W=v @8 1138 ER+4 40 §Rasr
(FiL5idsa» 424 5 3 6 3K)
gﬁﬁﬁ*:MSﬁZE 29 p 1+ = 10:35
ga BREIAEORERR

AR CEAERHLELAAME L RIK
IR AR R ALRGEHEDN A

P E )

T AR

i
) Al

B
~=h
&

-~ ARUSFERMIFIYZE44 > 4F 2 Lidks 9,610 4 o ¥ 305 F L@ 83000 AR

EAHPRRY AT RRTR L HSHF

SN AT EPIHEIN2 6p Byex d ’}f%I'J“" A fci 9,451 4 o ’4“‘; Ak 1,380 & o dE

9% 146% - A=t4p2 L2PIS%R > ¥ 2 EF FHFRME 37 o

Il

Gt £ L EPER 20 A4 o

B AT A H 20 15320 2L p AP BE s pREAY A A E
BELEfRL2dB41Foh s Y22 $5p g RHET L4

%ﬁﬁ&ﬁ$°

X1

_Ef ° ;%_é- ,f thch‘r' -IX—TEIE :

S R ROES p»~%a%;%; NS ES R LR PR S

SRR A FRE 1B E3 N 1P oA R - FHRD BB AEPLHE T

\

o= -

F

-

(-)% LHp=sef im0 30 10 10000423 Har T 5 AT £ 44 A2 FH o 24l

JCTPRILATA P 6 o

(Z)% 2% = efpaniar i gt 30 1p 10:00 # 44 2 B A 2 6 FPFF %%ili ‘
NEA IR RT 2 R T AR FEAGP G 3 11 p 900 mrdge S B E g

$2H AR LHTw 113830 150 24 o

AN RERALAFIEL PG TR R~ P2 T F LR e TR o 4T B4 2

BB 0 PRWEHFAE YU R SRR/ > F LT AR

(- )% 1= 2%feni# 113 & 37 8 p 9:00~113 & 3 * 14 p 17:00 i -
(Z)% 2= %fen ks 113 & 3 7 22 p 9:00~113 & 3 » 28 p 17:00 it -

é%éﬁfﬂiﬂ¢ CEPA R PR R A A M E
= ‘:" /J Lriipé‘:fr'__ﬂa’%ﬁ ’ T?ﬂln I ij? :ILr' ;-1%‘ » BT l—J} B"i?“ﬁ—%ﬁﬁi'] N %
EIARR A48 -

N\?

A N 5 {5 A

SIS L RN S R S ﬁi%%é’@%4amB‘4E%aiﬁiﬁ%%ﬂ
AR T L 0 B RIS o G JTRALY 2 L T PRI L

1AL R & RG] BRI E 2 B ()RR kT F 4

PR 0 RS 250 bl L B MR

€ “:F é_ﬁf,«—;‘;‘\G 1 }%g.: ,:J;&—%‘f ;D(<er),g§;d‘v N UELF%EZ‘ ?;éf%#?f%ﬁ;{i

K ‘:J_J” B L

]

Lo NI EREEVRELEFILS VP AP L At E L F R E B F Y L



\\\Xr
v
Q4
A
S
ol
._;.

A;[H_FJ:

\
bl

S
=8

P13 F ERAFL IS Y F A LR R
HOP o
-~ AT A YRE R
Wit - (p.3) -
:‘%%%’4*$%%w’%'
vi‘uv ’-ﬁﬁ&a.w fiﬁ °
:~%&iﬁ%iyﬁr$%%m
A R REUE

=

BEARR L 2 £ 37 Y
a2 J{*#‘Z"L%} B IZL

Lﬁaw #/z ] 'flf"

~

-k

Xd 1 FE IS B ERMLIFIY R B4 1
<W%“Lf$ﬁm$ B AR A ) 0 it

o

Fé“ E- 2l e o S
SPTERRRAR 2 AR 0 WU D
4 R T’ET'EEJ fo 4 KELFRIZ 2 42 %F
Sy b’L’r,E( ﬂ"_)ﬁmﬂb‘ﬁ’»%ﬂ_%i % B~
7 (p10) < 35 & R AEsade AT -

13

B ek R

et 1= 10:50

HHE RN Ik

RABRSRE TR, (i
A A A YR B T

B4 A ﬁ'(ﬁ FE Y ¥

C FeFit e
A ERFE F ERAIL S Ve

FATL R T o BUT > F A%

= (p.4)

Jost 2 BB R 2 e B (PRIT G 3R

Z o pB)HR T
Bod BRI T~

o (p.7-9) ~ & > 5 FEE MR E
R AR B LH(F S

T EAEELE B EG R L H



